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	Problem
	Step 1: Sketch Direction of Electrostatic Forces on Diagram
	Step 2: Calculate Electrostatic Force(s) Using Coulomb’s Law
	Step 3: Add Force Vectors as Vectors Should Be Added (

	Three point charges are located as shown.  Find the net force exerted on Q1 by the other two charges.  Sketch the direction each other charge exerts on Q1 on the illustration to the right:

	
	
	

	Three point charges are located as shown.  Find the net force exerted on Q1 by the other two charges.  Sketch the direction each other charge exerts on Q1 on the illustration to the right:

	
	
	

	Four point charges carry the same magnitude of charge  of Q = 2.00 (C , though three are positive, and one is negative. The charges are located as shown.  Find the net force exerted on Q1 by the other three charges.  Sketch the direction each other charge exerts on Q1 on the illustration to the right:

	
	
	

	Three point charges all carry identical charge (Q = +0.0055 C) are located on the vertices of an equilateral triangle.  What is the net force exerted on Q1 by the other two charges? Sketch the direction each other charge exerts on Q1 on the illustration to the right:

	
	
	





	Problem
	Step 1: Sketch Direction of E Field at Point A Due to Other Charges
	Step 2: Calculate Electrostatic Field  Using  

E = kQ/r2
	Step 3: Add Field Vectors 

as Vectors Should Be Added (

	Two point charges are located as shown.  Find the net electric field at point A due to Q1 and Q2.  Sketch the direction of the electric field due to each charge at point A on the illustration to the right:

	
	
	

	Two point charges are located as shown.  Find the net electric field at point A due to Q1 and Q2.  Sketch the direction of the electric field due to each charge at point A on the illustration to the right:

	
	
	

	Four point charges carry the same magnitude of charge  of Q = 2.00 (C , though two are positive, and two negative. The charges are located as shown.  Find the net electric field at point A due to the other charges. Sketch the direction of the electric field due to each charge at point A on the illustration to the right:

	
	
	

	Two charges carry identical charge (Q = +0.0075 C) and are located on two of the vertices of an equilateral triangle.  What is the net electric field at the third vertex of the triangle?  Sketch the direction of the electric field due to each charge at point A on the illustration to the right:
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